> A
A & 0l & AF 2 E A A
P012EE £ 38 WS ATMSAT ~ ATHS A D
SH: oA
HE: ZRUYNS TR (AUDDHH/LBHT)
Sl ARURHS DS LAY (B9 ®R)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
Ol TH 2 & T 9,810,069 9,108,881 701,188
2 0,000 10,000 0
p] 234,037 234,037 0
< 617,102 597,102 20,000
Al 8,948,930 8,267,742 681,188
SEHANYYSIE (LU TBH T /LHT) 5,161,077 4,617,677 543,400
< 243,374 243,374 0
Al 4,917,703 4,374,303 543,400
R0 2RISR LS AL 2,027,110 2,083,710 56,600
= 91,604 91,604 0
Al 1,935,506 1,992,106 56,600
2XE DELE AL 530,040 586,640 56,600
307 £12+0] & 470,960 527,560 56,600
05 2129 Er2 423,400 480,000 56,600
OAOIE SISHE YU (RBTH &)
A& 423,400,000 423,400 480,000 56,600
DESHNEAY 3,133,967 2,533,967 600,000
= 151,770 151,770 0
Al 2,982,197 2,382,197 600,000
OITH 2 & B 8 TH £ & & 1,100,750 500,750 600,000
306 2913 1,100,000 500,000 600,000
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OYFANLMSHFSNEIIZ 5
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p] 234,037 234,037 0
= 312,428 302,428 10,000
Al 3,385,435 3,237,347 148,088
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= 60,000 60,000 0
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TZAUSNE 29 300,000 101,912 198,088
401 AIEHI L 2T bl 300,000 100,000 200,000
01 Al bl 297,452 99,000 198,452
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< 10,000 0 10,000
Al 10,000 0 10,000
307 2I2t0l A 20,000 0 20,000
< 10,000 0 10,000
Al 10,000 0 10,000
02 QIZtF A8 X 20,000 0 20,000
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